Gi-

d-Lesson 19

50lve using the RDW process.

Iohn has 5 red racecars and 12 blue racecars. How many racecars does John have in all?

//Ircan draw 5 circles fo_r'.th;:\

red racecars. | put my [ connect the two rectangles and draw a box
circles in a rectangié to with a guestion mark labeled With theletter T
keep them organized. 1 because it is the total. When | find the total,

label my drawing with the Fwill know the answer to the guestion.
number 5 and the letier i s S
A, 50| know that this
rectangle representsthe 5
red racecars.

| can draw 12 circles for the blue racécars. | orgariize my circles and put
them in a rectangle labeled with the number 12 and the Jetter B, so | know
that this rectangle represents'the 12 blue racecars,

Pdraw a box around 17 because it
is the total and answers the.
guestion, The last part of RDW is
write. | can write 3 statement to
answer the question.

5412 = [ 17

Jphe hos 17 rocecors.

30 tesson 19; Use tape diagrams ay representations to solve put: Eegetherfta_ke apart
with total unknows and add to with rasiit unknowh wotd problems.
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